


�ŠÑ]Šb‰�XZy~ÐÜsZq-9c*oƒ eeeegggg qgzfsÎZÑ]&**åÒ**]~ÐCÙZq-Æa .I

8 × 1 = 8 �Šw»ZN[<Zzg�Z!6,d~ws{Æ‚Bå�Z[sX c*ñizVF,+  F,+ìX9

ìÂZk»ŠzuZ¥ÁƒÇX zZV¥Á n Zq-ˆ!£°» .1

15 (B) 18 (A)

2 (D) 0 (C)

ÐªCÙGYäzZáèo¾nÆƒD 4x + 6y - 18 = 0 Zzg 2x + 3y - 9 = 0 )zZ] .2

�

Zq-Šzu}6,ÀŠ~èo (B) ‡éèo (A)

!3‹3þ NE
Eèo (D) áZi~èo (C)

ŠZ],}ÆŠzÕoÐ*gäzZÑ8û EL�B@*ì .3

‡é (B) zF, (A)

Û¢ (D) ˜k (C)

%,S»×VìÂZk»”¥x<  49π Zq-ŠZ],{»gK .4

S»×V 9π (B) S»×V 7π (A)

S»×V 49π (D) S»×V 14π (C)

ìZkÒy»ZrZðZÖgƒ@*ìX 30 µ9Z°ZŠ»quÿ L¢[ (Consecutive) ŠzáZF, .5

x ( x - 2 )  =  30 (B) x ( x + 2 )  =  30 (A)

x ( x + 1 )  =  30 (D) x ( x - 3 )  =  30 (C)

)z~ƒ@*ì HCF ( a, b ) × LCM ( a, b ) Šzµ9Z°ZŠƒVÂ b Zzg a Z¤/ .6

a - b (B) a + b (A)

a ÷ b (D) a × b (C)
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Å7ƒCìX cos 48° - sin 42° .7

(B) 0 (A)

1 (D) (C)

ƒ@*ì ƒÂ P ( A ) = 0·05 Z¤/ .8

0·95 (B) 0·59 (A)

1·05 (D) 1 (C)

6 × 1 = 6 i<: .II

Šc*ŠH¤/ZsŠzozZàé)zZ]Æ�h}ÃªCÙ™@*ìX)zZÂV»t�hZÄig‚rìX .9

Ð™ä6,Ã̈K  a = bq + r Z½kÆ
$©o-+ö
GG

Gçz: (Comparison) »ñZi: 17 = 6 × 2 + 5 .10

°Š!*¹)Y(ªCÙ™@*ìX

Æ#¥x<  P ( x ) =  x2 - 3 M¥0 .11

»ŠgzHì?  P ( x ) =  2x2 - x3 + 5 M¥0 .12

Å7¥x<X (Discriminant) Æ¡ ŠzŠgY)zZ] .13

sX (Formula) %zoÆ�Ûd-ê
H

Åp{R»gK¥x™ä»Ãgñ! .14

 CCE PF 3 81-U

   Turn over ] PF (C) - 610



i<: .III

Zg»y»quÿ L¦!5é NEƒÃgñ!ÆZEwÐ¥x<X 20 Æ¬ 2 + 7 + 12 + ... ˆ!Ÿ .15

2

ìU*"$<� Zzg AD ⊥ BC ~ ∆ABC .16

2

Å AE ƒÂ AC = 18 cm Zzg BD = 7 cm ÔAD = 5 cm ìXZ¤/ DE || BC ~ ∆ABC .17

2 Mð¥x<X

cccc****

  ∆POQ ~∆SOR ìXU*"$< PQ || RS Š~ˆ̂~
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ÃËoƒ§iÐi<X 2x - 3y  =  5 Zzg x + y  =  5 ŠzozZàé)zZÂVÆ�h} .18

2

Ã%œ/ây™egŠZ],} D Zzg C ÔB ÔA ìX 14 cm Zq-%,ìT»I ABCD Š~ˆ̂~ .19

Zk§b¯ñ‰�CÙŠZ],{!*¹ŠZ],zV~ÐŠzÃ{gYîg6,g@*ìX

2 ‚bŠZg8�î EO»gK¥x<X

ƒX 60° Û¢»ŠZ],{¯�XŠZ],}ÃŠz̃kZk§b‚|#<�QyÆŠgxyiZzt 4 cm .20

2

Ã$Õä LäzZá B ( 8, 5 ) Zzg  A ( 4, -3 ) ¥x<�Õo (Co-ordinates) Qk`Æ&B3}é
EG] .21

2 ~„™@*ìX 3 : 1 âÃZ0+gzãîg6,

2 °ŠìX (Irrational) )**ê U*"$<� .22

»quÿ L¦Zzgquÿ L¢[ (Zeroes) Æ#zV P ( x ) = ŠzŠgYM¥0 .23

ìX  2 Zzg -3 !*nKM

2 b + c = 5a U*"$<

Ð„™ä6,{g`ë g ( x )  = Ã .24

2 ¥x<X (Remainder) Zzg!*¹ (Quotient)
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2 i<X gñ!ÆZEwÐ Ã .25

%,T¢aƒÂQk 147 kHic*Š{ìXZ¤/yZy»gK 3 Zq-l')é ENyZyÅMðQkÅahZðÐ .26

2 ÅMðZzgahZð¥x<X

2 Å7¥x<X tan θ Zzg cos θ ƒÂ sin Z¤/ .27

cccc****

Å7¥x<X sin 3  θ + cos 2  θ iZztqœ{ƒÂ  θ Zzg  tan θ = 1 Z¤/

2 U*"$<: .28

J-Z°ZŠŠg`�X0*³ÃŠz%û²ŠHÔZz6, 6 Ð 1 6,(Faces) Æ¥pV (die) Zq-kú0*³ .29

¥x<X (Probability) ƒä»ZÈw 10 6,ªCÙƒäzZáZ°ZŠ»quÿ L¦ (Faces) TV

2

Zzg 15 cm ÆŠZ],z~)gzV»Û¢ (Dustbin) Zq-%zoÆ�Ûd-ê
H

Å^ÆÃhZŠZy .30

2 ƒÂw¥x<X 63 cm ìXZ¤/ZkÅ�Zð 8 cm 

2 Å7¥x< y Zzg x ˆ!£°~ƒVÂ x, 13, y, 3 Z¤/ .31

ÔQE = 2 cmÔ PE = 1 cm 6,ŠzÕo�XZ¤/ PR Zzg PQ !*nKM F Zzg E ~∆PQR .32

2 U*"$<X EF || QR ƒÂ RF = 6 cm Zzg PF = 3 cm

2 ¥x<X LCM Zzg HCF » 20 Zzg 6 .33

81-U 6 CCE PF

PF (C) - 610



2 Šzg̀ÐZq-̃k‚|#<X 5 cm Û¢ÆŠZ],}ÃQkÆ%œ/Ð 3 cm .34

2 »iZzt¯CìX̧kÅMð¥x<X 60° Û¢ÆŠZ],{ÅZq-̧kŠZ],}Æ%œ/6, 21 cm .35

2 Ã£g~̂~ªCÙ<X )zZ] .36

2 »ZÈwHƒ@*ìXsX (Impossible event) Zzg**ez̧· (Certain event) Dz̧· .37

ìX 45° Zzgø»iZzt 4 cm »gK¥x<²ŠZ],{»Û¢ (Sector) ŠZ],{Æø .38

2 k(  π = 3·14)

2 ÐÃ,¥x<X (Origin) »!5å NEP ( 3, 4 ) ` .39

¥x<X (Probability) qÝƒä»ZÈw (Head) Šz]½ð LOVÃZq-‚BQYÑŠHXÁÐÁZq-Š .40

2

3 ŠZ],{ÃË!*CÙ~`ÐQYäzZá̃ÎVÅM×V',Z',ƒC�XU*"$<X .41 .IV

cccc****
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T»` AB zZáŠZ],}ÆŠzáZi~̃k�Zq-ŠzuZ̃k O %œ/ RS Zzg PQ Š~ˆ^~

6,s™@*ìX B Ã RS 6,Zzg A Ã PQ ì C ˜k

U*"$<:

3 ¥x<: (Median) qgzfsZ°ZŠzÑg»zT6 .42

¯kz9

Class interval

frequency ®Š

1 - 4 6

4 - 7 30

7 - 10 40

10 - 13 16

13 - 16 4

16 - 19 4

 Σ  fi =  100

cccc****
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¥x<: (Mode) Šg`fsZ°ZŠzÑgÆ].zwÐñe

¯kz9

Class interval

frequency ®Š

10 - 25 2

25 - 40 3

40 - 55 7

55 - 70 6

70 - 85 6

85 - 100 6

 Σ  fi =  30

CÆzpYõÆŠzgZygkgeG‰QyÆziyŠg`fs�XSy»LLÁnÆ 35 Zq-¯kÆ .43

»¤/Zs¯�X (Less than ogive) Zzæóó

ziy³¤/Zx~ CYÅ®ZŠ

ÐÁ  38 0

ÐÁ  40 3

ÐÁ  42 5

ÐÁ  44 9

ÐÁ  46 14

ÐÁ  48 28

ÐÁ  50 32

ÐÁ  52 35

3

 CCE PF 9 81-U

   Turn over ] PF (C) - 610



zZV¥Áa¸¥ÁÆ&kHÐ 12 zZV¥ÁQkÆŠzu}¥Á»egkHìZzg 7 Zq-ˆ!£°» .44

3  ic*Š{ìX£°¥x<X 2 

cccc****

)8û EL�(Ãeg8{ð OV~„HŠHXÅM×Vˆ!£°~�X (Line segment) Zq-és

Š}Zzga¸8~î OÅMÇV»quÿ L¦¬Šz8{ð OVÅMÇVÆquÿ L¦»&kHìXZ¤/a¸8~î O

ƒÂé«ÅMð¥x<X 14 cm ÅMð

N Zzg M �XZ¤/ C ( 5,  2 ) Zzg B ( - 1,  - 4 ) ÔA ( - 3,  2 ) ÆgZÎVÆ&B3}é
EG] ∆ABC .45

3 2 MN = BC ÆzVÕoƒVÂU*"$<X AC Zzg AB !*nKM

cccc****

�XU*"$< C ( 5,  2 ) Zzg B ( 3,  - 5 ) ÔA ( - 5,  - 1 ) ÆgZÎVÆ&B3}é
EG] ∆ABC

»gKQkÆzVÕoÃ�hä6,“WzZá[ÆgK»egkHƒ@*ìX ∆ABC�

ƒVZzgQZkÆx/ 7cm Zzg 6 cm Ô5 cm q-[¯�TÆZHqÅM×V!*nKM Z .46

3 ƒVX ŠzuZ[¯�TÆZHq¬[Æn~ZHq»

i<: .V

4 Šg`fsŠzozZàé)zZÂV»i¤/ZsÆ§iÐ¥x<: .47

2x + y = 6

2x - y = 2

¢aÆÃ,6,8û EL�~�XSyŠzÕoÐN*zgÅ 9 ¢aZzg 4 Æ0*ñÐŠzÕo (Tower) Zq-N*zg .48

4 �XN*zgÅZz™ð¥x<X (Complementary) aKÆiZzbZg·qÝ
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Ð¯ñ‰Z2Z:Æ‡°}ÃZq-%zoÐÈ™Šc*ŠHìT§b^~Cc* (Sheet) ŠJCzgt .49

Zzg 20 cm �XZ2Z:Å—~ 7 cm ŠHìXZ2Z:Zzg%zoŠzâVÆ‡°zVÆÛ¢)z~Zzg

gz[ 20 ƒÂZk',@ÃŠzŠ|Ð½ä»ya¥x<²ŠzŠ|Å7°{ 3 cm %zoÅ—~

4 ìX

cccc****

Ãge$Ðå½Šc*ŠHÔge$ÃûZgi}6, (Hemispherical) Û¢ÆÛ°æN{ 14 cm

ƒCìXge$ÆeƒÆŠZ],z~‡°{Ðy~ 7 cm Q&+&Í/õ GE6,%zoÅ̂»eƒáCìXTÅZz™ð

ƒð(»gK¥x<X

4 Šzx/¢VÆgJVÅÚQyÆn~ZHqÆ%ŠVÅÚÆ',Z',ƒCìXU*"$<X .50
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